
1 2 3 4 5 6 7 8 9 10 11 12

1 दधू म ेगाय 67 0 15 82 0 0 8 0 0 74

2 शçुक गाय 50 0 8 58 0 0 11 0 0 47

3 Ĥͧश¢ण हेतु 15 0 0 15 0 0 0 0 0 15

4 औसर 154 0 1 155 0 0 4 0 0 151

5 मादा बÍचे 56 8 0 64 1 0 1 0 0 62

6 सांड बछड़े 10 0 0 10 0 0 0 0 0 10

7 नर बÍचे 15 4 0 19 0 0 0 0 0 19

367 12 24 403 1 0 24 0 0 378

1 दधू म ेगाय 0 0 0 0 0 0 0 0 0 0
2 शçुक गाय 0 0 0 0 0 0 0 0 0 0
3 औसर 0 0 0 0 0 0 0 0 0 0
4 मादा बÍचे 0 0 0 0 0 0 0 0 0 0
5 नर बÍचे 0 0 0 0 0 0 0 0 0 0

0 0 0 0 0 0 0 0 0 0

1 दधू म ेगाय 4 0 1 5 0 0 1 0 0 4
2 शçुक गाय 1 0 1 2 0 0 1 0 0 1
3 औसर 7 0 2 9 0 0 0 0 0 9
4 मादा बÍचे 3 0 0 3 0 0 2 0 0 1
5 नर बÍचे 5 1 0 6 0 0 3 0 0 3
6 सांड बछड़े 0 0 3 3 0 0 0 0 0 3

20 1 7 28 0 0 7 0 0 21

दधू म ेगाय 8 0 5 13 0 0 1 0 0 12
शçुक गाय 23 0 1 24 0 0 3 0 0 21
औसर 19 0 1 20 0 0 2 0 0 18
मादा बÍचे 7 5 0 12 0 0 1 0 0 11
नर बÍचे 5 0 0 5 0 0 0 0 0 5
सांड बछड़े 2 0 0 2 0 0 0 0 0 2

64 5 7 76 0 0 7 0 0 69

eknk cPps 0 0 0 0 0 0 0 0 0 0

451 18 38 507 1 0 38 0 0 468

1 Ĥͧश¢ण हेतु गाय 17 1 0 18 0 0 0 0 0 18
2 सांड @cSy 85 0 0 85 0 0 0 0 0 85

102 1 0 103 0 0 0 0 0 103

1 Ĥͧश¢ण हेतु गाय 5 0 0 5 0 0 0 0 0 5
2 सांड @cSy 10 2 0 12 0 0 0 0 0 12

15 2 0 17 0 0 0 0 0 17

117 3 0 120 0 0 0 0 0 120

568 21 38 627 1 0 38 0 0 588
* TWH - TRANSFER WITHIN THE HERD.
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80 5632 4.5056 450560
60 16384 9.8304 983040
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